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2019(Odd) o01d Syllabus

Time : 3Hrs. Sem. V/(Chem)
OMCEE.
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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(a) Describe the possible causes of failure fo conveyor.
(b) Write operational difficulties of furnace. (iii)
8
(31) FAAR BT JMHAAT D AHIAT BRI
BT quiv B |
(@) ®BAE B AR HISATSAI T el @
C

(iii)
OR (3121a1)

(a) State the required steps while starting a rotary
drum filter
(b) State the precautions while starting the pump.
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Width and speed of a conveyor belt depend
upon ............ of the material.

(a) Lump size

(b) Bulk density

(c) Both (a) and (b)

(d) None of the above

frdfl oAU doc @B dAleTE w9 ufy
yaref @ R R oxar 2
(31) v wrgd

(@) 9 T
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(]) SWIdd &I gl

Cavitation in centrifugal pump is caused by:
(a) High fluid velocity at suction

(b) Low barometer pressure

(c) Low saction pressure

(d) High saction pressure
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Describe the preliminary check-up for mechanical

repair of filter.

fheer @ ATa wxwifa 2 UiRkfie a$H—amu
&1 9o & |

Explain the various steps for centrifugal pump

shutdown.

TP AR U9 & Ic—sSd 4 Heafda
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OR (3121a1)

A belt conveyor experiences jerks excessively. State

the probable reasons and their remedies.
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The belt conveyors experience jerks if the
loading is:

(a) Uniform

(b) Non -uniform

(c) Same

(d) None of these

doc AW OP HeYd HRdl ©, Al
AT o Bl |

(3) gfrm

@) TYfeE
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The maximum head can be developed with a
single impeller is:

(a)25 ft

(b) 100 ft

(c) 250-300 ft

(d) 1000 ft
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Draw a neat sketch of double pipe heat exchanger
and label it.
Ush sdd UIgyd du fafae &1 e W@
form <9 qor Sus faf=1 srqual &1 fia
PN | (xi)

State and explain the role of idlers in a belt

conveyor.

doc PAIR H ssad & BRI BT Sod@ )

E

OR(3721dT)

Explain the different modes of heat transfer.

(xii)
arg 9= o) fafr=r faferay &1 gwsnd |

Mention the merits and demerits of double pipe

heat exchanger. 4
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(ar) 500 #* | arfere

(d) 250—300 #H?

(&) 100—150 #Y?

(2) 10—20 #?

During commissioning of heat exchanger the
first commissioned side is ........ side

(a) Cold

(b) Hot

(c) Hot and cold

(d) None of these

o fafrae @ sfefHT & gRE
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(1) o1

() T
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For changes in the direction of a pipe line. It
is necessary to use:

(a) A union

(b) A tee

(c) A cross

(d) Abend
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Answer all Five Questions.

il ufa gy & SR o

2.

4x5=20

Which type of pumps are suitable for handing
corrosive liquids and why?

$RIAT g9 ¥g S 91 YU =aad siar 3
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(@) 34 wIc

(%) 45 wic

() 10 wic

Dry powdery solid materials one transported
bya:

(a) Belt conveyor

(b) Bucket conveyor

(c) Screw conveyor

(d) None of these

Yeh UrSsl S Ul @ grefeHd
aqg SUAIf 23—

(31) deT FAW

(@) s FAW

(¥) ®R, HAA

(@) 3 4 BIg el

A centrifugal pump losses prime after
starting. The version of this trouble may be:
(a) Incomplete priming

(b) Too high a suction height

(c) Low NPSH and air leaks in suction live
(d) All of the above
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